& - TOMA P
o ﬂ Ortnall Cmpaol:j er}- 50 kbiti|Sec s IS_P:M
Aenon g e o sus-aru

Each bUsion Thws et 5 kbita [SeC .
Nnollwﬂj ot Shream O3 Qn Hlﬂ-.l_’l S\X&Uw

Arvival ralh A = 25 paduk [«

Faua . St b X = L = [o-i) (o-02) + (u-‘i) (n-})
X 172 ) Y J
S X = 0 a1 N (sto bile
X o) oy (oA)ey  SHObS by
ut tgﬂbm = P e (2:5) (0-272)= 064
l.)
Fiew PE funuda W :-t_;/\_._?
- % 3
Ci-P)
hes P 03 |
51‘ _(_ %) (o-03 ): 0 31k L

Ci-0 63%)
W= 0 316U + 0-273=058 Wz wotx)
Lo = A Wq = (&5) (03164 = 0191
L= Aw: (Q-5)Cu.5gg):l-i«3r
% Sted gt cad Mmh'punw?.-
Mool as amn M T4[ 1 3«7&.&%
What A = jox2-5 5 X = (o) (0-002) +(0-7) (003}

> (w0

a = : = be B
A 5Hd m:-;’ Jliﬂz

B
i = 0 000%] Sorlo



In S WA e by o fade i

X v ouwonin bﬁcm oot o 0 3 dy

b& a fadwn of (oo - P lowerun ol wy vakaat
Al h.‘imi \”W,W;ng L A (oA
tﬂ o ot %F{O(£ﬁfmunﬁﬁmmm)

W= 0-055%, Ly =0 071l

Leem O~1U‘q
s
Q31 gpen  Tathson Ntwotk
D‘) %,ﬂ'\q
Aam DDA

Xy o Apthide
)"«L‘—;. 01)\3

‘ =V A =03V
Se{v\ﬂ{j n\-'- Q;?—M‘L Mj_‘, hl P 3

)"3': \?J }'M = b2V
Ul lgalon foutet & €als Stavu
P= (W) =V
o= (0-3%) (A= 2N
by = (W)= 2V
Pu = (02 (W= 03V
s fe betrlradk  gina ik bou b
Wohut wb Czaton

oo Save 2



T R

b)  savtr 2 has T loghat bd”"lfg)a:,{!{m- F wilk
¢ Lo @a}mbxalfﬂl Lhn 3= 4 2L %
DA sl BIRigE:
23
C") Seavih 3 hat f detomd I’\/SL\_LH- Ld”‘il;@ﬂ._i;ﬂ’f"

To male Aavt 3 W betlonte et ne d

> 254 e
103,'1'05 = (p-%\?) ‘)LL.;'_I'\J & mLL%#Giﬁ
"
GD W2 e 2, -&'7 v e b
\:.l' -.:.g. i"{j,l /
= <X
PI'*U)J;{):Dga'/Pb:DBHPL* Qs R
W = Qiﬁci
o w)‘if"rjj, & A, = PRP ve o bdelubon
i
\Ve E’.‘V,La;{f‘m >‘:}: = /\'Pid ben, n
[ S |

Ll l-f\.ﬂ-/'\f‘{- Pi = :1-) Fj_, = P]. Pl‘

e n W e & oob by e e 3o, Tn

PM-v, W) =,
(M)
- H n
LUML C{M\ = Z___ F:L

Nz 0



et i Pr 2 PUs
b) T PV whilgad o 8. g bj k bu,uj’ﬁ
H
e N 2T P(UJH) = b= L
C (™M
" (™)
= (M) - 0y
C. M) ol
5 ( - (;\[M\: %DL'f(Jm)
A fidiuim. GilnY = (s ¥ iz
N e R
o \.ad-f(-‘ 7, oy G oL G
TGP0 YRR o)

LL) Eeowe LU IPougm

po uk lzebon = 2%-@
\
\
=3 ’)\ LM} = P_L,.—EN—-EEHJ

oo iM)



